
 

Ukázka č. 3.11 

 

 

 

                                     A      A     B 
                                       (ab)   (ab)  (cde) 

 

 

 
[1.   x x x x x x x x                        () ………………  8] 

               2.   x x x x x x x x                        () ………………  8        A (štóla) 

 

              1.    x x x x x x x x                       () ……………….. 8 

              2.    x x x x x x x x                       () ……………….. 8       A (protištóla) 

 

              3.    x x x x x x x x                       (  ……………….   8 

              4.    x x x x x x x x                       () ………………..   8     B (dopěv) 

             [5.   x x x x x x x x                       () ………………..    8]       

 

 
 

Reprízový bar 

Reprízový bar rozšiřuje  druhou část (dopěv) buď nezměněným dílem A (AA/BA), nebo 

variovaným dílem A (AA/BA1) 


